I3 UTUS 2024—25
PET—11
fdvg—afy forg vd wiRkee!

|qHY: 3 "o 15 e qUIieh—50 3h
Are— 15 fide &1 F7g el &7 e v ugn @ forg fuiRa 21
fqe—1. ST U 9T d ol 17 YA B |
2. ft ye At 2|
3. O Ul & 3w ST wHd 3ifdhd B
1— 9gfddy Uy
(@) I 9 F&U a, b, ¢ AR S0 H & Tl 1
(a) b’=ac (b) 2b=a+c
(c) a=b+c (d) 2c=a+b
@) A e, ey B A 1
(@) x=y (b) x=ny
(c) x+y=n (d) y=nx
(M) 10,16,50 BT OITR AL 1
(a) 40 (b) 60
(¢c) 20 (d) 80
@) &g (asinx,acosx) 3R A g & dra &1 0 7| 1
(@) a (b) 2a
() I (d) 3a
() (27)%&??&??{@ 1
(@ 9 (b) 3
(c) 6 (d) 27
2. HQi® & w9 H fARaU log,64 =6 1
3. fewmsy & 95 (21) (6.7) 3R (—4,—8) ¥ T | 1
4.y R x & qun x=4 T y &1 HA 5 T | 1

I x= 10 @ y BT AF A BT |



10.

11.

12.

13.

14.

15.

16.

17.

ﬁl@ ElgllaJIQ s 1+Cosezcose+cot6

V1-cos©
U 59,13 BT UrFdl UG SITd HIFT |

@B fenfal & uraie e & g &, 7ol AfegsdT 9id o |

PIEIED 20 21 21 23 24 25
fefea 1 3 5 7 4 3
CARRSEC

Uh el 10 Hex T8 100 Hiex dlsl &, ol 245 fhHo /9fd der &I
T & 98 I8 2| Ul Adve g # R arel url &1 Jmae sd

BT |
Ife A+B+C=90° I Rig P fr—

tanAtanB + tanB tanC + tanCtanA=1

in“A —sin®B
|%‘|§ Eﬁ”éQ b i = =tan (A+B)

sinA+cosA—sinA+cosA

fag P& feene S o oy o fa=gall A (2,4) 21 B (6,8) 1

eI dTel NREUE Dl 3:5 & IIGUIT H 3T=T: (AT HRAT & |

& A & uRTd TH 9ol 2 3R ded @ id Udb U 2 |

I S MR [T B AT S M § a7 U 2|

RET 3 x+2 y BT GRS HITY qA 39 34T 3R 8w . & 7ey

AT BT &Fhol ST BT |

Uh TIHR &5 208 ofF<T 2 | STP <X Th 2.5 H 9 IRI 3R B

ql S U BT 8B ITd HIIT |

fr=forRag AR @ WE-R 91y 9T Aa9d Fae SiTd BTy |

T RIS 0—10 10—20 20—30  30—40 40—50
CIRSIEGIE 4 2 4 6 5
FrfeRad IRl ¥ AR A1 qAT 9gdd S1d difom |

T IfART 3—6 6—9 9—12 12—15 15—18 18—21 21—-24
EIKSSIRG! 2 5 21 23 10 12 3

g faenfddl & urdie - f&A U §, $d! AT S dr—

gl : 20 21 22 23 24 25

aalé_ al 5 4 7 3 1 3
DI GRT :

N






